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1. Evaluate each expression without using a calculator
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3. Expand and simplify
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4. Factor the expression
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5. Simplify
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6. Rationalize the expression and simplify
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7. Find an equation of the line that contains the points (-3,2) and (1,1).
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8. If f(z) = 23, evaluate the difference quotient f2+ })L f2)

and simplify
your answer.
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9. Find the domain of the function
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10. Find the minimum value of the function f(z) = 2% (no justification
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Give at least one value of z where the minimum value of f is attained.
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12. Are the following statements true?

a) Vit yi=z+y




